
©Copyright 5/12/2016 SV-Rev00

TN2130- KN2130
SPECIÁLIS BUKÓCSŐ

YAMAHA MT-07 TRACER (2016)

SZERELÉSI ÚTMUTATÓ 1/4

N° Leírás Méret Kód Mennyiség

1
Bukócső

- TNH2130DXV
TNH2130SXV 2 (Jobb; Bal)

2 Rögzítő elem - GL3268G 1

3 Rögzítő elem - GL3269V 1

4 Csavar TCEIS M12x90 1290TCEIS 2

5 Csavar TES M10x120 10120TES 1

6 Csavar TECF M8x20 820TECF 2

7 Csavar TBEIFF M6x16 616TBEIFF 2

8 Alátét - 10RON 2

9 Alátét - 8RON 1

10 Alátét - 618RONP 2

11 Távtartó - V918 2

12 Távtartó Ø30x50  12,5 C30L50F12,5ALT 2

13 Távtartó Ø22x510,5T C22L5F10,5T 2

14 Adaptor - V906 1

15 O-Gyűrű - - 2

16
Eredeti Alkatrészek

- - -



©Copyright 5/12/2016 SV-Rev00

TN2130- KN2130
SPECIÁLIS BUKÓCSŐ

YAMAHA MT-07 TRACER (2016)

SZERELÉSI ÚTMUTATÓ 2/4

1

10 11

12 13 14 15

2 3

4 5 6 7 8 9

-  A felszereléshez kérje szakember vagy
szakműhely segítségét! 



©Copyright 5/12/2016 SV-Rev00

TN2130- KN2130
SPECIÁLIS BUKÓCSŐ

YAMAHA MT-07 TRACER (2016)

SZERELÉSI ÚTMUTATÓ 3/4

A

B

16

2

1

3

8

5

6

8

9

Jobb oldal

Bal oldal

13

13



©Copyright 5/12/2016 SV-Rev00

TN2130- KN2130
SPECIÁLIS BUKÓCSŐ

YAMAHA MT-07 TRACER (2016)

SZERELÉSI ÚTMUTATÓ 4/4

C

D

D

4

11

12

14

15

15
10

10

7

7




